THMSF12AFEAS BRELR

RE EEHBEERITREHLE

BE & A % & B H BE#HR
KRHAHE fAEHmEXEBE 0157 (Ea
RAHT (4F) BEHMERBEE 0157 (=3
BRfFTDY faE Mt XBE 0157 (Ea
RIAITRL(YR) frEHMmEXEZE 0157 b= %
FLooPa—x faE M RBE 0157 = %
NZYBYHA frEHMmEXEZE 0157 b= %
BREF—X (15g) frE M R/BE 0157 b= %
D—L(KEHR) e M KZE 0157 b= %
ZAlTeL faE M RBE 0157 = %
=AY AIZwL e M KIZE 0157 = %
BAE REHMEXEBE 0157 (Ea
YIRR—H)Y e LM RIZE 0157 b= %
KEV)—L(F3aK=E) fmE M XBE 0157 (E
FaaL—ko)—L fAEHMmEXBE 0157 = M
DEZAIZTRL(HYR) REHIMEXEBE 0157 iz %
25 fREHMmMEXRBZE 0157 =
EAITHF—X (HE) mEHMEXBE 0157 fz %
AT #HX) fREHMmMEXREZE 0157 (E
AaFL fAEHmEXZE 0157 fz %
gx&3—4 )Lk 2737180ml frEHmERBE 0157 = %
DYDMAE rEHMmEXREBEE 0157 b= %
NE—(HiR) fAEHmEXEBE 0157 = M
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BE & A % & B H BE#HR
—HAxX faEHmEXzE 0157 (Ca i3
EX frEHMmEXEBEE 0157 b= %
SYMF(EMH) faE Mt XBE 0157 (E
SYMFILEDE) fAE Mt XBE 0157 (E
SYMIF(DY-2) fAEHmEXEBE 0157 (Ea
SUDMF (EZR T ) fAE Mt XZE 0157 (E
SYUMTF (FYABE) faEHmEXEBE 0157 (Ea 3
AEIIV—YE)—(BEEHHA)T0g et mEXEBE 0157 [
MRF—X faE M R/BE 0157 = %
BX frEHMEXEBEE 0157 = %
TAR—XBERLYI T (DFAT1R) frEHmEREBE 0157 = %
TIAR—XARLYI VT GRERA) e LM KIZE 0157 b= %
HMAD v L mEHMEXEBE 0157 (Ea
TYYRD v L e M KIZE 0157 b= %
EHE fAE Mt XZE 0157 fz %
BMEEFD fREHMmMEXREZE 0157 =
BEH<h fAE Mt XBE 0157 fz %
FEH<h (EHwLIY) fREHMmMEXREZE 0157 (E
3—%' )Lk (100ml) frEtmEXBE 0157 (E
I—JILGRER) e M KIZE 0157 = %
=TI (TIL—Y)YAZ 80g frEtmEXEBE 0157 [
YAZTDa1—R fREHMmMEXRBZE 0157 (E
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AR E (M) (50g) faEHmEXzE 0157 (E
MREEIT(RD) frEHMmEXEBEE 0157 b= %
AEVHETF frE M RBE 0157 = %
BEVAVFT—(HEUE) BEHMERBEE 0157 (=3
BEIAF—(HYb) frE M R/BE 0157 = %
HESTHIT BEHMERBEE 0157 (=3
AEITHIT (hvh) faEHmEXEBE 0157 (Ea 3
MEIEN frEHMmEXEBEE 0157 b= %
mERIN fAEHmEXEBE 0157 = M
AREBMS frEHMmEXEBEE 0157 = %
AEMNMIBLPEIL REHMEXEBE 0157 (Ea 3
AENNVDSIEIF e M KIZE 0157 b= %
BRI T A (40g) mEHMEXEBE 0157 (Ea
mREFa—Y e M KIZE 0157 b= %
AETEHATF fAE Mt XZE 0157 fz %
AEIOYT (IMAR) fREHMmMEXRBZE 0157 =
MRS (H1R) (30g) fAE Mt XBE 0157 fz %
AR (H1B) (40g) fREHMmMEXREZE 0157 =
mESEND fAE Mt XZE 0157 (Ea 3
ARSI (H18) (30g) e M KIZE 0157 = %
AESIE (HIR) (409) fAEHIMmEXBZE 0157 fz %
AREIE(HIR) (509) fREHMmMEXRBZE 0157 = M




THMSF12AFEAS BRELR

RE EEHBEERITREHLE

BE & A % & B H BE#HR
ARSIL (AT -3 faEHmEXzE 0157 (Ca i3
ARE(E (8E) (40g) frEHMmEXEBEE 0157 b= %
MESHL (HIR) (30g) faE Mt XBE 0157 (E
mRSHL (H1g) (40g) frEHMmEXEBEE 0157 b= %
i D fAEHmEXEBE 0157 = M
AEEERTTA (30g) BEHMERBEE 0157 (=3
MEVT—NAZ=AY faEHmEXEBE 0157 (Ea 3
MRRIBESL frEHMmEXEBEE 0157 b= %
ARZFEITPEF (30g) fAEHmEXEBE 0157 = M
AR5 (HiE- A1) frEHMEXEBEE 0157 = %
MEEF REHMEXEBE 0157 (Ea 3
AEFXU N5 (60g) fmE Mt XBE 0157 =
AEFEXUR—I mEHMEXEBE 0157 (Ea
MEPEE e M KIZE 0157 b= %
MEEE fAE Mt XZE 0157 fz %
AEEE (X) fREHMmMEXREZE 0157 =
MREE (Fe) fAE Mt XBE 0157 fz %
ARESBAILEZL fREHMmMEXREZE 0157 =
AEBENDIBIT BEHMEREBEE 0157 2 %
AEBA(EDE -5ghvh) e M KIZE 0157 = %
BREN(KDE-8ghvyh) fAEHIMmEXBZE 0157 fz %
MRBA(RDE-3H-10ghYh) e M KIZE 0157 = %
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MRBA(RDE-3H-15gAVh) frE M RBE 0157 = %
MEBA(EDOE-13-40ghvh) frEHMmEXEBEE 0157 b= %
MRBA(RDE-3H-5gAVN) frE M RBE 0157 = %
AERBA(REL-H5-1%A) BEHMERBEE 0157 (=3
ARICALAERZIL fAEHmEXEBE 0157 = M
ARBEA (1) 3mm3 x 3cm frEHMmEXEBE 0157 b= %
MERBEADL faEHmEXEBE 0157 (Ea 3
ARBEAEDD (EM1 X 3em) frEHMmEXEBEE 0157 b= %
AERRLY (A fAEHmEXEBE 0157 = M
ARBERA(A—X)2mm 3x3 e LM KIZE 0157 = %
AEBKRA (O—X)3mm3 X 3 REHMEXEBE 0157 (Ea 3
AEA—OY (hybh) e LM KIZE 0157 b= %
ARIFSES mEHMEXEBE 0157 (Ea
MRIZIAF— e M KIZE 0157 b= %
MELCERE fAE Mt XZE 0157 fz %
MRREE e LM RIZE 0157 = %
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